Series : ABCD4/3 SET -3

QI T 65/33

A weqreff J9-1 I I IT-YEThT o g@-
ROll No. q@q’{ m%’@ |

Candidates must write the Q.P.
sCode on the title page of the answer-

o FIIAEHATFFIA-HAFATS 87 | b
o Y- H gIfe g1 1 3R ST 0 Jo-73 hig I BT IT-TfEdehT o J@-T8 W g |

o FUIAETR AT FHIA-TTH 14T E |

o THUAT T 1 I {eTE1 TE it | Uge, ITR-YIEIh § T 1 $HATH 31099 ford |

e TH YYH-UA I Ued & fo1u 15 fie 1 v feom o 2 | wea-vm 1 T qatg # 10.15 &
foRaT ST 1 10.15 S | 10.30 S G BT had TH-TF Bl T IR 39 4T % GRH o
I 9T IS IR el for |

e Please check that this question paper contains 8 printed pages.

e Q.P. Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 14 questions.
Please write down the Serial Number of the question in the answer-book
before attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on the
answer-book during this period. *

DLLVINAHLVI DLLVNIHLVIC VIEH. SOLLVINHHLVIN SOLLVINHHLVIC so1

EEm o 0
Tl MATHEMATICS &

fefRa goe - 2 gue IerHaT 37% : 40
Time allowed : 2 hours Maximum Marks : 40

65/3/3 310 C Page 1 of 8 P.T.O.



e e

(i) FHYIHTTF i1 GE -GS &, GAATTE |

(ii) ¥eIP GUE ST 8 |

(iii) @& 4 6 g FTCI] YR & 597 8, [0 geieh & 2 3% 8 |

(iv) GUe-@ T4 7 FTCI FHR & J97 8, (78 JAF F 3 37F 8 |

(v) GUETHL T FTITTAE, [FTHIEAF H4 755 |

(vi) PO IFHI 4 SHTARF [a%e7 leT 70 & |

(vii) F¥7 14 TH THT eI STETRT F97 &, 157 @ 977 3, 5780 g & 2 375 & /

©ug —<h

I AT 1§ 6 b Tceh I3 oh 2 376 & |
afe fog (1, 1, l)ﬁwax—y+z+x=0ﬁaﬁ%%,Eﬁx%smamsﬁﬁm|

- - « A T

+ ¢ ) I Gfex a W Y& ATG HIWY, J&l a = 21 — 2] + k,
A A RN AA Ao

=i +2j-2k3M ¢ =2i —j+4k |

dy _ 3e2* 4 3e%¥
X

ITelehel THIRTTT &1 Ak §A ATd I |

dux e’ +e”

T % 52 Tl i Teh AT TS & ATgeAT &1 Ix) IV TR o A1 fehret S
2 | S % Ui shl HEAT hT Wbl S T hIfTT |

x% —6x+13

ITET ST Th ST IBTEAT AT & ST ITE T YT FEAT3TT BT AMHSA 7 8 | HH-H-HT Th
T8 T HEAT 5 YT §H Shi JTRIshal FTd shifeTg |
e

Amawmﬁwmwﬁaﬁuﬁw% 3R B g0 e e by arhiesarn % 71 3afe
T, TaA B9, &g I e w8, @ S W i v <6 wifesar s Shifse |

65/3/3 E.%E! Page 2 of 8
—



mEm
g
General Instructions :
(1) This question paper contains three Sections — Section A, B and C.
(it) Each Section is compulsory.
(ii1) Section—A has 6 short answer type-I questions of 2 marks each.
(iv) Section—B has 4 short answer type-II questions of 8 marks each.
(v) Section—C has 4 long answer type questions of 4 marks each.
(vi) There is an internal choice in some questions.
(vii) Q. 14 1s a case study based problem with 2 sub-parts of 2 marks each.

SECTION - A
Question Nos. 1 to 6 carry 2 marks each.

1. If the distance of the point (1, 1, 1) from the plane x —y +z +A=0is o

5

find the value(s) of A. 2
2. Write the projection of the vector (b + ¢ ) on the vector a, where a =
A A A —> A A A — A A A
21 —2j+k, b=1+2j—-2kand ¢c =21 —j+4k. 2

dy _ 3e2% 1 3e%*

3.  Find the general solution of the differential equation :

dx e +e™"

4. Two cards are drawn successively with replacement from a well shuffled
pack of 52 cards. Find the probability distribution of the number of spade
cards. 2

5. Find: [ 2

x“—6x+13

6. A pair of dice is thrown and the sum of the numbers appearing on the dice
is observed to be 7. Find the probability that the number 5 has appeared
on atleast one die. 2

OR
The probability that A hits the target is % and the probability that B hits

it, is % If both try to hit the target independently, find the probability

that the target is hit.

65/3/3 E,f,% Page 3 of 8 P.T.O.
D



e - |
T TEAT 7 8 10 o T YT b 3 3 ¢ |
7. %@134%?:3§+53+71A<+x(§—2§+f<)aﬁn?:(—§—§—ﬁ:)+
w71 =67 + k)% sl bt =g g T IR |
8. U GHAT S 61 Herd qd |ewm 21 — 4] + 5k 31 —2] — 3k g Frefm
%ﬁsﬁ@ﬁmﬁ%wﬁ?mﬂﬁﬂmﬁm | TR =gy &1 &hat off 9
|

YA
%

A A A A A A .
A A =21 +2] +3k. b =—i+2] kA ¢ =3+ @ afew =
- o - . .
gfesr (a +4b), Afew ¢ o oi&ad &, aT A T HH 1 HIT |
9. WWij—y—nyz -e* mﬁﬁmwmsﬁﬁq,y(l):oﬁmw%|
X
DG

mej—y =y(log y —log x + 1) 1 ST & AT hITT |
X

iy

El
10. | A SHIfT : j(sin|x|+cos|x|)dx
—77[
Qg - T
YT 91 11 9 14 G T Y9 4 376 3 |
. _) A A A A A A
11. g (1, =2, 9 W@ r =41 + 2j + Tk + A3i + 4j + 2k) 3R gwadt

_)

r (i =+ k)= 10 % whrede fig i g 3 Hifm |

2
x
5 5 dx
(x*+1)(Bx" +4)
3UAT

12. maﬁﬁq:j

1
T 374 SHIRT - J' 5—dx—x2 dx

-2
65/3/3 E.%E! Page 4 of 8
—



SECTION - B

Question Nos. 7 to 10 carry 3 marks each.
7.  Find the shortest distance between the following lines : 3

- A A A A A A - AA A A A A
¥ =31 +5] +Tk +Mi —2j +k)and ¥ =(1i —j —K)+ @i —6j + k).

A A
8.  The two adjacent sides of a parallelogram are represented by vectors 21 —4j +

AN A AN AN
5k and i —2j — 3k. Find the unit vector parallel to one of its diagonals.

Also, find the area of the parallelogram. 3
OR
— A A A > A A A - A A
If a=21+2j+3k, b =—1+2j+kand ¢ =31+ j are such that

> —
the vector (a + A b ) is perpendicular to vector c , then find the value of A.

9. Find the particular solution of the differential equation x j—y —y=2a2 e
X

given y(1) = 0. 3
OR

. ) ) . . d
Find the general solution of the differential equation x d_y =y(logy—log x+ 1).
x

jus

2
10. Evaluate : I (sin | x| +cos | x|)dx 3

ot 1
2

SECTION - C

Question Nos. 11 to 14 carry 4 marks each.
11. Find the distance of the point (1, -2, 9) from the point of intersection

—> A A A A A A
of the line r =41 + 27 + 7k + AM31 + 4j + 2k) and the plane

> A A A
r ‘(1 -3+ k)=10. 4
x2
12. Findzj 5 5 dx 4
(x*+1)(Bx" +4)
OR

1
Evaluate : .[\/5 —4x —x% dx
-2
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13. Find the area of the region enclosed by the curves y2 = x, x = i, y =0 and

x = 1, using integration. 4

Case Study Problem :

14. A shopkeeper sells three types of flower seeds Al, A2, A3. They are sold in
the form of a mixture, where the proportions of these seeds are 4 : 4 : 2,
respectively. The germination rates of the three types of seeds are 45%, 60%
and 35% respectively.

Based on the above information :
(a) Calculate the probability that a randomly chosen seed will germinate; 2

(b) Calculate the probability that the seed is of type A2, given that a
randomly chosen seed germinates. 2
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